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TEEE,  ~Jg00 = ¥1320
or, 1243x =%.1320000

,61320000
OFs « £= 91043
x =1061.94
e, 1ooamm%amngga =1061.94 — 180
=%.881.94
B, T2 =99 1 FdA
1
Tl =995
©.881.94 = miz x 881.94 =440.97
=441 &
37q: 9 Afear e 99 e =441 &

afy 10 sEisr ¥ = XF.6.34 TE WA AR
2248.81 @Y wiw SawiS AT T ?
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10 SIS 39 = 4%, 6.34

A.3.2248.81 = SIS 39 x A,
m’

AT HTAR

10 x 2248.81 = 6.34 X x
10 x 2248.81

o, X="""634

. x=3547.01
3q: TEYIH SIES =94 = 3547.01
afy $1 =368 T £1 =%.110.97 ¥T $ 4167 feer
T THAS AUt GEtEr 10% danew utE 3%
mmmaﬁm%m

. g, $1 =%.68

$4167 =%.68 x 4167 .
=  %.283356
TS TUATET 10% ST &,
£1 =%.110.97 + 10% of 110. 97
=%(110. 97 + 11.097)
=%.122.07
34, 3% Hia afeq,
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=%.122.07 + 3.66)
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z. 125 7sa£1 mam i
m As 25, 73111@1#4@ 5
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sf 283356 A £ 3573 X 283356
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T,

abic=2:34
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*“Sb-—2¢ 5x3x-2x4x Tx 7
afe g% 3¢ TEEET 3:5 BN IUCHT G T YAGAT
8 u@T WAl AU 7:9 FE WA A YSEEE Uew
SR |
T, AF 3:5 1 gE IEETRT 3a L 5a g |
A9,

or, 27a+72=35a+56
or, 27a—35a=56-72

A IH R ACERE = 3a=3x2=67T .
5a=5x2=10%T |

a b ¢ a’+b’+¢?
== a™ bl @ TR Wy
T |

a_b o ol

b ¢ d =
m’

c bt B
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_dm’(m+1)
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Q@ e eg-aPE
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JE,
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e, T4, 3R T faam 7x, 4x T9x ¥9491 yseA |
YRIFER,

7x + 4x + 9x = 1,20,000
or, 20x=1,20,000
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or, x=6000

TR I3 FUAT 7x = 7 x 6000 = 42000

T a8 &4 4x = 4 x 6000 = 24000

et Trea Bl 9x = 9 x 6000 = 54000
I TH; sﬁtﬁmﬁm 42000, 240001 54000
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or, 5x=4y
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3d, TSR
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e @ =7"5000 = 9
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X= % from equation (i)

9 52— 9 x 5000 =Ty ~7 x 5000

36y — 35y — 45 x 5000 + 35 x 5000 = 0

y = 50000

x = 40000
mmmmﬁ/mms 40000,
50000 &S |
qEST WifvEaT gre@r SAveT Jqu 3:4 ' | 7
mwmzsﬁmu&mmw
= 7t a2
I,
ﬁmw3x'{4x3 x foiee <= SAE!
AR AZ D |
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3x-7 2

4x-7 3

Ox-21=8x—14

x=17

BRI SAT3x =3 x 7 =21

4x=4x7=28D |

I, &Y T @wr e 12, 10 ¥ 8 asier e | aiy
3. 60 SEEar JAHT SrqUIAAT AEAT WA YeABN
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9, BR T TR SHE! AU HAY 12:10:8 D
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15x =60
x=4 .
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=6x =5x =4x
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R 110 weuly frefeeer i@ sMuw 6:7 &Y
RE o S Wi Y T SRR Bia-siv e T
MI
mﬁﬁm@mmmmuﬂ |
ﬁgéﬁm@m\ﬂaqm;=%3l
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or, 2y=50
.y=2§

ym‘rmuﬁ’lm(n)mm
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5 Xx=20Ty=25
3q: TH T TR Tehl S 20 T25 RS |
T T ERE TEST JAYET U 5:2 RET F |
4 Ul @ sqUW 11:5 @ WX T T BR@T
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~or, 25x—-22x=44-20
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M%IWWWSxS 4032x8=16
RS |
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Now,
- 2 e _ 21 x4x+30x5x
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234x

A T2l W IETE. 3oﬁq%a1§4saha3m
fradar afaeshsht TAES %. 26 76 |
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TN deTeh! 7o = T. 80 HfafareX
ﬁfﬂﬁmw=xmﬁ
T deTeh! giRETo
wé*hﬂaﬁqﬁqm_

2
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%%ﬁa@qﬁmw
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9 7.90-x
oL 8 x-%.80
or, 9x—-%.720=1%.720-8x
or, 9x+8x=%.720+7%.720
or, 17x=71%.1440
x=F’ll‘;00—a 84.70
T W yERer feaww 3:4:7 @7 @A
e | oy Ry e wfir feam. = % 80,
¥. 100 T ¥. 150 Wy 35 fsam mmw
WU e |
T, A YR feaeTs! REmr S 3x, 4x T
7xE=[ |
Tufsra faamht s et = (3x + 4x +7x) = 14x
Tafra faamen ST 9o = %. (3x x 80 + 4x x
100 + 7x x 150)
=%. (240x + 400x + 1050x) = %. 1690x
==, Tafsa femm 14x 6= goa = 2. 1690x

or, Tafma femm 1 ﬁ.m.a»’r{axi%

Fra: fufsm faan 35 5. i g
=z.16li?:‘ x 35 =%.4225

THeET Tedr A wiifes €. 70, €. 90, T. 100

©

T T 150 A UK 4 o wW AWEw W | W 4

doeeRed e g ot SR WEmT ¥ e T e
AT HPAT W & JrqureaT frarder wiifey &
98 UHf WeE ?
A, FfeTe 7. 70 T . 90 T Geres AR x fAe T
x foret af wfaferex ©. 100 T %. 150 9 tete® AT
y fae Ty oo s fagror smmm |
I, s g =(x +x+y+y) fa.
=2 (x+y) fa.
fafdm 9@ 2 (x + y) . = g wfafewar
=%.98%9 | A
. fufs o s e = ’698><2(x+y)
&, . 70x +%. 90x + F. 100y +%. 150y
=%.98x2(x+y)
or, 160x + 250y =196 (x +y)
or, 160x + 250y = 196x + 196y
or, 250y — 196y = 196x — 160x
or, 54y =36x
54 x

o, 36~y



sm ﬁmmtmmmwaﬁr - 2x fa.
frgroren 36 T e o) e T = 2y .

2X- x 3
T, ST I =50 = =5
Fra: ©.98 faferet! At s ufeed 35 o LA™
TRud e 3:2 T fraRges | :

M . 20 @ T 60% B8 Q@ T d@ e | |
Ier QAT i feex et aqr @y Rewmr 40%
e ?
=, mqﬂﬂhmﬂox%ﬂzm

TreteR! |HE = 20 — 12 = 8 faX
M, 20 TR fasomn x fax o & 1S e
gfaerd 40% 9 | Ui 74 fagor (20+x)fazt=n
U AT 40% §S |

12fﬂ'€I=(20+x)-m

or, 1200 feret= 800 + 40x
or, 400 fFIZI 40x

;(=—f€l?l— 10 fa=x

| mmwquo mtao TN
T T 0 &7 AeEw 2:3:8 Wwﬁmaﬁ
e BT BT FLT e ? T WnSaR. | -90
If a bag contains Rs. 510 in the form of Rs. 50,
Rs. 25 and Rs. 20 notes in the rate 2:3:4, what is
the number of notes of each types ? Find out.
(RBB, @&, WeTq®, 200y, 1/ 0¥)
Soln
7=, 50,253 2oawﬁraahaaqm2k 3k T4k
1o i
39, 50%x2k + 25%3k + 20x4k = 510
or, 50x2k+25x3k+20x4k =510
or, 100k +75K + 80k =510
or, 255k=1510
or, k=2
50 I e W& 2k = 2x2 =4
25 M ARHEN 3k=3x2=6
20 I A W& 4k = 4x2 =8 =
e T 50 1 A4 T, 25 H1 6 TAT20 H 8 F&A
ey
M wir st ¥80 T T 30 ﬁﬁmm
3.8 B FquEAT RraEgar § | Frmer amesr
uftr &5, Her af fiar ? W R | - 90
Two types of rice costing Rs. 40 and Rs. 30 per
kg has been mixed in a ratio 3:4. Find the cost of
per kg. mixture of rice.
(RBB, &-%, W (W) 2004/ {2/¢09)

Sol™
T, ﬁs@aaqmalﬁxuxm
19, faaTses! 9rTern 3xkg INE € 40 94 T4xkg
e T 30 U4 Rl g9

& itg@= 3xx20+4xx30
3x+4x

_ 120x +120x
S Tx
- 240x
7x
=34.28
Fa, frramee S wi Sl € 34.28 WS |
M ye oo e gevat Rt A ear far v
B JE@ fearey s@u 8:3 € Wa fowomr Ad” ¥
B ¥z foaar gelier AEr war ey |- 9.y
The ratio of A grade tea powder and B grade tea
powder in the mixture of 56 kg tea powder is 4 :
3. Find out the quantity of A grade and B grade
tea powder in the mixture.
(RBB, d&-%, WeIq%, ?0(09/0-3/29)

Sol™
7el, A I= T B s foumn yee fasia feumn
AU 4:3S1
e o 56 Sl AL B,
Tt sgu ST AT =443 =7

A s feramht s = %—SX4=32 kg

B 3 faamer wm = %=8><3=24kg

¥, fague A ds@t feamen! |6 32kg T B IS
24kg I S|
M %% g0 fevar Rrewomr qu ¥ urier s@uw 9:9 | |
afy TET FquEend 9:Q W & WA URET AT i
9 g ? of |
In a mixture of 60 liters, the ratio of milk and
water is 2:1. If this ratio is to be done of 1:2, how-
much quantity of water should be further added?
(RBB, @&-4, AR FETq® (7Ia) 2004,/?0,/¢0)
Sol™
Rl ST g T e fasrr 60 ferex :
el g4 T Ui gad 2:1 B '
! feguR AT =2+1=3
m 60—20
3

60 feret gumn gueh! A

. = 2x20=40

I 715 = 1x20 =20 B
wm@xmmlzmm
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40 1
or, =—
20+x 2
or, 20+x=80
or, x=60
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31, 60ﬁammwﬁmguzm=h@t
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@ A T 3,0001- 9:3:3 BT RO O HGET

WA YD BiT o I ? -3
(RBB, T&-3 FTG TETI® 2003/71/2%)
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=,
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el, e f& = x At

S =

15 10

30
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4 31 SHifersieh] Gl = 7 3l Een! e,
e, 3x2xxx4=4x750x1x7
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37d: TS Hifersienl god = %. 875
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sW 16 et wa= o wfr qoar @ wdquat 2
gl, AT 60 SIS Srea 1 16 fammn
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. Now, :
s | R & EUET
50 12 1 8
160 16 2 X
x 50 12 2
oL 876016 1

8x50x12x2

O, X=""60x16 x 1

x-lO A
m%ﬁmmmmnﬁq@u
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T wrg | afy frdfiee w9 e @ w5t 6 Remr
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or, —=

6
or, x=6%6
x=36
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A, B'\rcas&mm 9y, 20 ¥ 30 fmwr W@

o geEs | Q fewwr ¥ feR e oRufe A @
FWEEE, BY C A o8 fiw $r sm oda B &
Ion FW learer g8 R sonfs =W d@E |
I W IW G W B few wwe o
e | 1 -9
A, B and C can complete a work in 15, 20 and 30
days respectively. They can work together for 2
days then A leaves the work, B and C work
_together for somedays and B leaves 2 days before
completion of that work. How many days are
required to complete the whole work ? Find out.

(RBB, T&-%, WeTq®, 2004/ ¢/ 0¥)
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Tel, A A T T l—ls-mvﬁ%n
1
B & T& faamn Emn'én

C & & femn %mn@y
(A+B+C) Tt 5 fafer 1 T

L+—l-+i=iaﬁrrmé|
15 20 30) 60

A, BT C fa7t st 2 femn %xzzim

30
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x el 7
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o9 <Rt 2 femm %nﬁaﬁﬁ {(—)mmu
C o 2 f&7 7 %M B1E B 7 S B, -

B+C9 1 faamn (—+§)-J HTH TS |

[, B+Cd a)—mlﬁWT&’W{I
Siepl (l—-l—)a;mB+cé
10 15

QP T TP

19 60 38

30 5 5
=(21—2)
L 30
TS |
T M TH @A & = 2+72+2 2+§5§+2

na‘am.

19,
30

HH 7= ﬁw

_20+8 _ 58 PR ﬁ.’?lml

mwmnﬁaﬁﬁmu; &

M firw T fveee g9 W AW 9T T 98 R aw
TagEe | fliee g¥ ARk oW IR W | & fieafa
e aw Biedr | ety fveew Ste @@
g | B R fovees d s Reag 2
T WeeR | -9
Nirav and Nischal can do a work in 18 and 24
days respectively. They both togetherstarted the
work. After 6 days, Nirav left the work. Then
Nischal finished theremaining work. In how
many days Nischal finished the remaining work?
Find. (RBB, @&y, &rd®, 2004/03/2%)
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Sol™:

M.

If 12 typists can type a book working for 4 hours

daily in 18 days, In how many days 4typists can

type the same book in daily same working hours?
(RBB, @&-4, ART TETq® 2004,/03,/20)

gl ufea e
Jwfre =12 5 A _
T T 99 = 4 Hg gfq f&eq
Ha g = 18 57
G I
TR =4 5
S T WY = 4 5ue gid feq
HA I = ?
12 1 rEfueen us foharel a9 7 18 feq s
1 51 TRfreas e fFae @R 7+ 18x12 f&
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4 v TEReE s e @R T

S|
=18x3 =54 T
3, 4 S MU= uSA fHde qOr ™ 54 fem
S|
90 W Aifwwens 9 Rw wwA w1 30 WA @
e ot e ? -3
(RBB, @& - 3 FITTG JETqH 2003,/%/27)
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36 s w5 et L2 e

30 1 I e H19 TH %ﬁaml
I 30wwﬁaw§mnﬁ|

Sraer ufve
Ui fRgul SAfeheeesl S ANThAE R
HEEA FT TR 318 YNTheiels fesueh! sifdmere
ATd TH  (Average) Wi | ofvwd, THemE

- HAKIUT HLIH (Arithmetic Mean) I 9 |

3 T Hesd Yo 999 16D | Sed oEe
AT h! HRETE/ERER HEAHh! Fif-1ee T |
& | AU HATETel 9Hes § AEd 9 |

&  ATHd AR 3 ASTET T oS |
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)

%]
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ﬁs‘@ Sl e AT
‘ el I8 T&&
& RIS TEAHETE I AUTHT T TS,
(%) =AfwTa A0 (Individual series)
(@) @fted Sof (Discrete series)
(M) sfafss= it (Continuous series)
Rrgga sitwear sl 7w femd ?
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WA = e TR aeeT
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Ecl

FET 9 &1 12 war foEmfigear sfew ofemr
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=35+45+70+85+65+83+25+42+48+ 72
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10 T SETERRT IAT WA 10, 12, 14, 17, 18, 22,
23, 27, 30, 32 &t g@T g W fodigear sima S8y

or,
or,

U desaRy |

TR =T e far. ﬁ@wrg dwB-YTY - @



<

TR, hgTH! ST S
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ST SR
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" 27 ST STeTshehl STHAT SRR = 240 + 224 + 128 + 180

=772
TTCThETH! mm—h$$=%=z&s9
J: AThEER! Td I 28.59 T ©S |

40 S faendieea! wge oliva S o1 oA
155 . YIS | W S i F9 fewe MR 21
T faeneffent 3= 137 Q. 9 wgr 147 Y.
qeH WS | W A A e g aRew
fae R ssE w2

ST foenef A 401
%omﬁanﬁaﬁsa@a’rm=40x 155 = 6200
.
W TeheHl feeneffen arafas 39 137 ggaaeT 147
IS |
X 147-137=10 A 9@ YIS |
%mm SIEIfsh 39 = 6200 — 10 = 6190 ...
: |

zéaﬁmgﬂemﬁsﬁua=%

=154.75 9.4
% T TSI 40 S Va3 154.75 AT,
|

TS (Mean)

F1 qAEHH AGd AHEE Y Hemw  areen
ASHVCIT HeTeh A0 | TS G&T Faier
i faerem 1fes .

9) ARG 20 (Individual series)
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SEERUTEY
mmlommmmw
T | Ih AEEH S e
45, 56, 34, 56, 78, 34, 90, 78, 67, 88
3L
o1, s fereneff we@m 10 YERIN =10 9|
T,

<@ AT PE

)

=

=

=4

.

(=4

=3

=

GAGER,
— + Xt Xt ...t
II%IEF(X)=X‘ X5 §3v Xa
X1+ Xo+ Xt ...+ Xjo
10 :
45+ 56+ 34+56+ 78+34+ 90+78+ 67 +88
10

626

=H0 -626

M 15 9 s Ue Reer R atew dqow
USET W TAIR AAe et |
275, 300, 250, 280, 170, 500, 450, 325, 600, 350,
650, 700, 850, 950, 1150

I ? ‘
gl < A e 15 Y N =15 9 |
T, :

FAGER,

= + X+ Xat ...+ X,

&) = X+ X5 §3 X

XXt Xt 4 Xs

15
170+250+275+280+300+325+350+450
+500+600+ 650+700+850+950+ 1150
15

= —751;00 =520 ,

ol X =520
|ugid it (Discreate serxes) BT WA o B

STERUTEY
M @@ REuer dieswee SE@UTE WEIS  URT

ST | ;
e (X) | 50 |25 |35 [45 |55
g () |2 6 9 10 |3
Ik
Wﬁg@maﬁwﬁu@anﬁm
X f
30 2 60
25 6 150
35 9 315
45 10 450
55 3. 165
N =30 >fx=1140.
7, Yfx = 1140
133"3“;,
= fm 1140
7S (X) = No o 30 38 .
M =% zemer 100 fewfia feafefea o o
HFgErE TR s e |
e (X) 5 [15 |25 |35 |45
Toreaneii T () 12 {15 [28 |25 |20
3L
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ST ﬁ'sqa?r ¥ | A U e
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40-50 45 2 90 40-50 10 45 450
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M wer & @ 100 femfid ower swer e N=46 Zfm=2530
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| aaﬁswmmuwxaﬂmm
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20-30 20 25 500
30-40 X 35 35x
40-50 20 45 900
50-60 10 55 550
N=70+x >fm=2200+35x
(X) =34 and =f = 70+x
Now,
T AJER,
fm
% (X) = -—Z
2200+35x

or, 2380+34x = 2200+35x
or, 34x-35x = 2200-2380 -
or, -x =-180
=% x = 180
g ﬁaaa faftr (Step-deviation method)

M @« Ruar e suRAr @ feew o  ©
WIS Tl qonedey |

EEeN) 0-10 [10-20 [20-30 [30-40 [40-50 |50-60
faefigeen(f) (8 (12 [20 |40 {12 |8
SR -
e e HETF (Assume mean) A = 35
Trferent aa’fa;alaﬁ FE T T R
B ETT IRl | d=(m- | d= fd'
X) (m) ® A) d
C
0-10 5 o) 8 30 |-3| -24
10-20 15 12 20 [2] -24
20-30 > - 20 -10 |[-1] -20
30-40 35 40 0 0 0
40-50 45 12 12 1 12
50-60 55 8 20 2 16
N =100 Sfd' =—
40
TR A =35, Zfd' —40,N=100,c=10

e (X) = A + Z;;d xc

ﬂ'><10 35-4=31

=35-700

@ e mE-aPE

] Wmmmwm

5-10{10-15|15-20 | 20-25 | 25-30 | 30-35
ﬁmzﬁa?r e 6 11 i 4. 3 1
S :
e, el HE% (Assume mean) A = 22.5 T
ifreh! Afeherens JEI TEgd T Hihes
TwEs @ m| ' |A=225d=m-A| fd
5-10 7.5 6 -15 -90
10-15| 125 | 11 -10 -110
15-20| 175 7 = -35
20-25| 225 | 4 0 0
25-30| 27.5 3 5 15
30-35| 325 1 10 10
=32 >fd =-210

?-'IET A= 225N 323¥fd=-210
aqmﬁ?ﬁum(j—u—d

210
=225- 3

=22.5-6.56
=15.94

| M =% wwmar 46 wor - femfieew wfowAr  ager

TTEs Frasees & | 30: WaTgse! aed ol

TSAE :
e 30-40[40-50]50-60 [ 60-70]70-80 | 80-90
fenefimigs=n | 15 | 10 | 8 6 5 2
T A = 55 (AE) ~
YEeh| AT H m| 'f' |[d=m-A=m-55| fd
30-40 35 15 20 -300
40-50 45 10 -10 ~100
50-60 55 8 0 0
60-70 65 6 | 10 60 .
70-80 75 5 20 100
80-90 85 2 30 60
~ N =46 Tfd =—180
TR, A=55,N=46T=fd=-180
Zfd 180
AEE () =A+N =55-6
=55-3.91=51.09
aw fesger aifveme s \
SR (@) |50-55(45-50[{40-45(35-40|30-35/25-30
Remsiaeen| 22 | 29 | 31 | 47 | 51 | 70
Jax:a=37.5 (“I'F"ﬁ)
IR | e Tererenant d=m-a= fd
YAt m weE (f) m-37.5
25-30| 27.5 70 -10 700
30-35| 32.5 51 —5 -255
35-40| 37.5 47 0 0
40-45| 42.5 31 5 155
45-50| 47.5 29 10 290
50-55| 52.5 22 15 330
N =250 e
180

I&l, a=237.5,N=250 {=fd =-180



Y B 6 efis Tszq i
o (= 4B s (80
0.72 =36.78 99
M oo ww sREweT swWeREEaT i ST
STURAT S SATAT Tl orraaerg |
a‘lﬁn(x) 0-50 | 50-100 | 100-150| 150-200| 200-250| 250-300
HTHER 3 /s 10 '8 6 1
qEe
IR TR FIafa TeqF A = 175 (
Hiforh! STieres T T&gd T WD
: aFgRa (d=x-—a
™ | () | =xo175| M
0-50 25 3 —150 | —450
50-100 75 7 -100 | -700
100150 125 10 250 | =500
150-200 175 8 0 0
200-250 225 6 50 | 300
250-300 275 1 100 | 100
N=35 Tfd =
—1250
|, A=175,N=35Tzfd =-1250
W,W®=A+ZI%?I7S+:%
= 175-35.71 = %.139.29
=%.139:29
fsgar sweme Sufer s 10 &1 TRER
ifer s 7w fosreR -

7, 47, 36, 39, 31, 19, 41, 49, 9, 51, 29, 22, 59, 17, 49,
21, 24,12, 31, 8, 36, 18, 32, 16, 23

I e, Al TGS &g Tl
Soft HEIAT TRFERAT fx
St (x) ®

0-10 5 3 15
10 - 20 15 & U 75
20 - 30 25 5 125
30-40 35 O 210
40 - 50 - 45 -4 180
50-60 55 20 110
N=3f=25 | Zfx=

715

fx _ 715
WW,W(YF%:f

TS, AT X =28.6§;@|
M 15, a,5, 12, 10 &7 7% (X ) 15.4 F W 2 3T @
T WSEr. | -9

If the mean value (X ) 15, a, 5, 12, 10 is 15.4,
find the value of a.

(RBB, @&-5, WETq® 2004,/03/¢%)

el feguent e = 15, 8, 5, 12, 10
e (X) = 15.4

Sol™:

Sfx= 15+at5+12+10=a+42
e r10=a

- Y&
PRER, (X) = N

15.4 = a+42 »
Gy

at42 =77
a="77-42

A= 35 :
A, a B AF 35§D |

or,

or,
or,
or,

ameT (Profit) ) 4
% FgH fa%9 G (Selling price) 9 Te4 (Cost
Price) %=l . YUH! AT foa gew T =59
HEh! F=RATS ATH 9D | W: afE B 9 .
570 =1 foh R %. 850 A1 forht el H9 e %. 570 T
Torpam 1 850 fa=eht 31=R %. 850-570=230 T
D |
j87et: AT = fo%¥ e (S.P.) - F9 g4 (C.P.) °

V] waqe (Loss)

% SR F9 ToA (Cost price) fama gear (Selling

Price) W= W@ WU SERATH %9 49 T fama

HEIh! SRS A 9D | S: A B g T

850 =1 fepR %. 570 w1 okt Tof %9 ge %. 850 T

fosg gem 570 fa=e o= %. 850-570 = 230

AFF D | :

|67 A = %4 74 (C.P.) - %9 5e4 (S.P.)

TIET e ¥. 3500 AT fFax T. 4000 AT ¥=q7 Sy
T g ?
77, 3.3. = 3500
fag. = 4000
o = fa.g. - %3,
= 4000 — 3500 = 500
AR = %. 500

Az TP e o, R, we-v 2 €Y



]

AR % =

gaer e 3. 1800 AT a7 1200 AT Sr=qy AT Av
AW & it g Ten e, |
e, fa.g. = 1200
*.4. = 1800
T fa.g w1 6.4 9fE YT AdH §9 |

- TR AR =%4. - fag.

=1800 — 1200
=600
s EEHE =%. 600
AEHT SEAWT WIERT @ dEww  Wova  oar
wnesdey |
wH. (§)
(i) 800
(i) 500
() e, kH.=%.800
fag.=1200
e =faq. - % 3.
' =1200 - 800
=%.400
qredfaeh A%l
9.
= A0 x 100
=50%
31q : ATl Hfae= 50%
(i) =&, H.=7%.500
fag.=300
T =%g. - fag.
=500 — 300
=%.200

| fa=w (%)
1200
300

% 100

=40%
31 : A wfaerd = 40%
ST TenE TEew T 80 W (Wigsiw) WS
fiam T uheiEr €750 W1 ¥ WA shr gl
wTAT WeE ?
Teh Toid 18! 74 %. 80

Y Sss g T %’ﬂs. 6.66

Tef, i Tier @St .. (CP) = %. 6.66
yfa el @S fa.g. (SP) =%. 7.50
A1 = SP — CP '

=17.50 - 6.66
=%.0.84

Rt ATl
*4.

9% e

=12.61%

% I~ = x 100

@ T e arag—a:vﬁa

|

U YIeT EIeT T. 45000mﬁ'a'\r£ 60,000 T
FeqT Wi anwT e ?
], Sl hd I = %. 45,000
- ireren! foskd 9 = ¥. 60,000
R = 2
We have
T = foohd 9o - T
= 60,000 — 45,000
=15,000
s %.15,000 TR ED |
Ry . 4500w e feax 7. 5400 Ay dfaw W
maﬁrmaﬁw ?
el, el 79 4o = . 4500
Yfeden fosha 9o = %.5400

Yfedan! A = ?
~We have,
ATt = fosha e - mqm
=%. 5400 — 4500
=%.900

TS . 900 T THIEEy/ATH TRA |

dREEr TES T 20000 ThETAT goer ¥ fEeR
g | @ e 3. 17,500 AT ¥ W s
Tt weT wog
==, Srerer SR e ¥t A I =
20000
e fosma g1 =% 17,500
o BT =2
We have,
Rl =3R4 oA - Tk g
=20,000 - 17,500
=2500
HIE B9 2500 ©S |
F&W TIeT gt . 880 AT fHaw 7. 500 A fazey Gt
forsg &fer e Wy g ?
&l SIS g Hed = %. 880
fosra 99 = %. 500
ST YT EE = ?
We have,
HEl = h9 9ed - fosha o
=880 - 500
=380
o HRIEEE. 380 WS |
favaay WERTER % 20,000 @ gIer g el w
25,500 w7 ¥erg | fowrarE STh SRERAT qEeT ar
AT & iy WA 7 WRAT WA e |
Tei, 9 ged = %. 20,000
fora g = %. 25,500
WT@WWWE@WW@I
We have,
TRt = TR ged - HT A
= 25,500 — 20,000
=5,500



3q: AT %. 5500
a, . i

AT FfeRTd = 5o

=27.5%
31 : AT YT 27.5% ®9 | ;
BN TIET YW T. 3540 AT =T T 460ih'ﬂ|=r
HYE WA S g T wrsee |
g1, T Tk g = %. 3540
e = %. 460
WA T Je = ?
We have, '
9 e = format et + Feem
= 3540 + 460
= 4000
T, I T = %. 4000
g armﬁ-qﬁm
Ao wfaea = T 100%

4
= 4(?(())0 x 100%

5500

20000 ~ 100%

8, A i 11.5% 9US |

UIET U USET HiT §. 240 AT ¥=qr 10 whww
HIET e 40 Ufawid AT W T ETT iaAT
?

Igl, BIarh! forshl Ted = %. 240

e gfawd = 10%
T el =2
10% reres fefar
forshl gea A %. 100 YU FIT oI . 90 & |

Fa: g ha T
.90 %.100
%.240 %2
ATETTh hd 7T = 100 % % ®.266.67
39, 4 T T. 266.67 T 40% H fogs | T4
STFETHT ,
» forshl qe = 2

=

Torsht 7o = sha &3 + T
T[T, TR = 3hT 9o x 40%
- 40
=266.67 x To0

=%.106.67
31q: foohl 9o = %. 266.67 + %. 106.67

=%.37334%9 |
%. 2,400 &7 60 freme fefagsr amwemT 20 whowe
wEeT W Wi Rednmw aweer ferw qer afr
ww ?

60kgamaa$rsma\w =%.2,400

TMRARE =20%
qrEafaes AR = 2400 x 20%

20
=2,400 x 100

=480

Now, we have
fragea = g9 + T
= 24,00 + 480

60 kg =THeren! forsha e = 2880
lﬁs.m.amaﬁﬁmmw=%

lkg TTeTeR! foashd T .48 TS |
T9ET W T. 5600 U yamvam (Black & White)
efafimw fear @dee 5% gear @ 10% amer
@y Swiched g | SWIREE ST
efenfiow sfer AeETe 2% geat fezgar Rer W
?‘;ﬁé&nﬁmﬁaﬁﬂaqwsﬁrﬁﬂ? »
() o TEAfSH feeR HEleme €. 5600 o fafism
5% gt Tt |
FEfraged  =%. 5600
gwEHwREa . =5%
- gRAafaR g = 5600 x 5%

S
= 5600 x 100

M FH T = 3ifehd Ted - g
= 5600 — 280
= 5320
(@) 9HAA G& AH 10% fa® s/=a |
Te, g = e+ T
=%.5320 + 5320 x 10%

=7%.5320 + 5320 x )

100

=%.5320 + 532

=%. 5852
3d, SR 10% Th Sfeasl fosha Ted <.
5852
mﬁmwﬁméﬁ&mmwx
£l
2% g2 fag %. 5852 =1 ot niftwant g9, x &e x
H2% G fEq1%. 5852 %9 |
A: x — (x B 2%) = 5852

2
—(x X 1OO)=5852
X— 50—5852

50x —x=15852%50
49x = 292600
292600
or, X=T9—
‘ x=5971.43
: aaaqﬁmw ©.5971.43%S |

=280

m

or, X

or,

or,
or,

oz i e o, fadeg, ae-v 2y QP>



e T Fiiive] €.95 A WY ¥.100 WA W

aﬁuﬁmﬂwwm ? e |

MW{@ .95
et 4l e = %.100
el god =%.100 - 95 =%.5

i e = g;%xm()%

5
=5 % 100%
100,

197

g
=579%

] ﬁ@ﬁﬁﬁ%‘é?%ﬂﬂ?@iﬂﬁ%%aﬁﬁr

g ?
mnﬁxmn%mmmow |
I x B 75% = ©.3600

75
or, XX 100—'6.3600

3600 x 100

or, Xx= 75

™, T4800 B 20% = %.4800 x 1280 =%.960
A ST WgET AT 20% 9 T Al
40% srmers e figg | Al S W R
480 ¥ @ T W,

a) IO Bid THA T IAT AT ?

b) wnEt fegar vaw =fv R Ser ?

T, T ST O YU WA X B |

W,WT@W=X@IZO%=XX - ==

=%.4800

100 5
o X 4
Eﬂaﬁ'{’éﬁﬂ—x.— 5=5
wﬁﬁ:@m——-aﬁM%
4x 40 8x
7100~ 25

T%ﬁ ﬂ'{agq=4—x 8x _20x—8x 12x

5725 25 25
TRAIGEN,
12x
5 =480
480 x 25

x =% 12 =%.1000

|

=

SRt I.AT AT et 2500, fermiered 5% =
T 7% g g & @ femawer femit w'
2645mmuimwﬁrma?sﬁrw

ﬁ:q ?
qﬁmmzmmm X3y |
x +y=2500 :
y =2500 =x — (i)
<4l ¥ AR,
(x+x X“1§®)+(y+yx—1%6)=2645
% + % = 2645
105x + 107y = 264500 .......... (ii)
JET;
HHHLT (n)ﬂTHﬁﬁF{W(x)Eﬁﬂﬁ'{l@
105x + 107y = 264500 ,
105x + 107 (2500 — x) = 264500
105x + 267500 — 107x = 264500
—2x =264500 — 267500
—2x=-3000
= x=1500
THHW (i) 91,
y=2500-x

y =2500 — 1500 = 1000

§ wmm— 1500 T BT §& = 1000

wmmwﬁsnoomm o
IeEwT 15% g [GE 10% Wie wnser & @7 7
wfa WAy frar ? Feere |
ei, e g e = %.5000
T%=15%
R % = 10%
m)
B T e ufsdl g
amfamqw (100 — 82 %) * (100 + VAT%)
100 x 100

_ %5000 x (100 — 15) x (100 + 10)
100 x 100
5000 x 85 x 110
100 x 100
=%.5x85x 11

=%4675

3T HUST JT 2065 JrwAT ¥.24,00,000/— FwT

WG | TAAERT RBT AR 60% THA AT
JEWHT TR 120 AT SHARIEE AR FEROT
ﬁmmﬁuﬁrmﬂaaﬁrwm

Tae e |
&, FA TR =%.24,00,000/—
AT = . 24,00,000 x 1680
=%.1440,000 \
ST HHER dE= 120



e s~ 140000
=%.12,000

37q: Yfa HHART AT A = £.12000

g3eT AR 10% ge ufis 10% e afgaer 7

699000ﬂqmzmsﬁraar ? ;

S, % =10%

R % = 10% :
BT IR Ul g9 = s99000
34,
ECARE LA ECI R ]
aTEifaesh Jeax (100 — 82 %) x(100 + S %)
- ©100x 100
or, 99000
SrEfersh Je4 (100 — 10) x (100 + 10)
- 10000
or, e 10000299000, 0
SIGH '
R A = (100000 — 100000 T G2 %) x SR %
: 10
= (100000 —10000) x 755
=%.9000

UeholeT HUST AR gIeT ®ust 15% gear fasnr
TGl ©.60 dEww WoE | afg S 10% W gT
S fet ke Wy Swerd ©.90 Fmwr g R wa

T A T dfea q e |
e,
ufEer -
L% =15%
I = %.60
Al SAfFT g =x B |
X x 15
fag. =X-"T00_
_100x - 15x  85x
T E100 T 4
F3. %%’6+560
_85x+6000
N 100
JUSiT 31
B %=10%
IRl =%.90
faq.=x-10% of x
10
=X 002
_lox—x_9x
10 ~ 10

JYAIGER, T = fa.7, — 6.7,
. _9x  85x + 6000
107 100

90x — 85x — 6000

o, 90 =

100
or, 5x =9000+ 6000
5x = 15000
x =3000
Fifehd Hed = %.3000
85x +6000 85 x 3000 + 6000 :
W= o = T =%.2610
3eT vgeva 8 whw ge fmer R a9 ©.
50000 & T e 10 Wiid AT § WA SRZEIaET
P T Wi g ?

=, Wﬂﬁsmgzaﬁaaﬁwq@ T.
50000 |

= 50000 — 50000 x 8%
=50000 — 50000 x

= 50000 — 4000
=46000
4, fashige 46000 a1 61 10% &9 |
FHIeh! AFTd Hed = ok ge - Tw
= 46000 — 46000 x 10%

= 46000 — 46000 x 10

100
= 46000 — 46000
= 41400
T HTIETH! AN T4 . 41400 /S |
A T 850 Wt y3er feaw ¥, 180 =ET |y
mﬂimsﬁrmmm ?
&I, gl T Tod = T. 850
TEIHAT UhH! T = T. 180
gwmw@mm ?

8
100

3!3:

We have,
STHAT 1
o gfaea = > e ™ 100%
180
=850 % 100=21.17%

3d: Ik GEIRHT 21.17 TfwTd ST 94U |

TIRHS 10 yh ST TR MRS gSer

TEe dOE | wARES 15 g @er @)
TTh WEeW T9g, IRSWA W SEed

%.7480 WT fpA@T WE WA TOXHA DRAT TEIA

fepaar B 2
T, WIEEHeh! oh! 3 God = x HA

- e 10 9T AR @R 39 9ESe TSR e

Hisheten! foshd ged
=X+Xx Xll—(())é'-
10x+x 1Ix
10 10
SRR forsha Jed = AR 7 0T &9 |
3, SRR SFIE = FARHH! foohd T &9 |

ez oo e fon. gy, de-v 2y €G>




_lx 1x 15
~ 10 10 7 100
_lix 33
~ 107 200
_187x
A 200
TRAAFER
or, '1%:7480
or, 187x = 7480 % 200
x = 8000

mﬂémwwmwﬁm 8000 1 3

TrEehel fhae ®D |

TSeT AR 100 goiw g Uiige €. 30 AT

ag WREWT 5 o geel WTEE o@ adt@r

g Uiegetw wfewr fast R 14 vt s

W 9 e ¥ Ufvge €. 33 AT R et &

yfevra AT ar A g ?

Fel, 100 i Graaireh! SPH RA ed = 100 x 30

=%.3000

5 T graen feRiiuehiet diehl getl= 100 — 5

=95 TS

14 e A SR TS foshd ged

=3000 x 3000 x 14%

: L
=3000 x 3000 x ;g = 3420

Ia: gfd SoF WRRI g = 3‘;250 36

14% %1 g TR Hfagsi Sseh! 9e9 %. 36 9 |
uﬁraﬁatwmﬁsﬁm&ima@ =33 x95
=3135
AT = fosha 9ed - 7 e
=3135-3000
=%.135
o 135

=73000 * 100

aﬂéuﬁiﬁwz 33 ot fosht i A dfieE 4.5
T |
THeel AR Jiaiees T 30WWW40
foex quwedr 8 fwex ofteg ¥ df@T qu wfafwew @
32 &T g0 T WgE WH Sth SREREE It
AR Hid W ATET ar dea J@ar ?
e, 40 Tt Ut 379 eI = 40 x 30 =%. 1200
SWQHWWE{W@=40—8=32
Now
aﬁguezm)@rﬁmwnxn 1024
| 3 FRORAI SH AR = 12001024
=176 9T |

Q 2 o - - - TP

176

Sk uﬂaui ST Sl SRR 51 % 100%
_176
ot 1
"o = 14.66%
aﬁéwamﬂwé 14. 66 yiaed =e 9SS |

T9ET YRAGEH! TR WS HEAT §o SR
W ge fRgger fer | oy @@t sRew ©
2300 U¥ UEe %. 2070 Wr @G WEq WA
Wassou{m@maﬁaﬂ@'mi?

e,
SIS UIg-2HT 10! 82 = %. 2300 — 2070 = 230

SR UTsee feReat ureeh! ge wiRTd
230 2T

=300~ 100% = 10%
TWH AfFa e =% 850
T el G T Tfaerd e TR S |
3q: g fasa =10%
TWHERE g =850 — 850 x 1180
, =850 — 85 = 765
T T BT g 5.765 9 |

A T 4000 sfeq 7 (13 WE TRE) HTHT
TEew feae €. 5000 AT FRfiens deqr wiv wiaww
AT T ?
TTgehee! w7 Wieaa! Ged = 4000 + 4000 x 1130
= 4000 + 520 =%. 4520
Trgehereh! foshd 9o = %. 5000
TEHEET T SIRfaeh T = 5000 — 4520 = 480
480

AT fcRrd 4520 x 100%

480 x 100
=450 =106l
ara: B SEshaHn 10.61 Tawd TR WS |
geer fom w150 @ W w50 @
wREd | affe INETATE Wadd! T. 75 AT dwgr W
TRETE 25 Uiea AT WUE Wa, 150 T W
wir shamr s g ?
I=i, Tgere faaen! firem

50 9 Heufs ot i = 150 - 50
=100

Sfen! firemaen! fosha gea= 100 x 75
=%.7500

=150

YIAIER, :
150 = fiTcraeh! sHaeed x |l
X + x x 25% = 7500
25
X+ X X 100=7500

or, 5 X _ 7500




fag,

or, " 5x=30000

.o x=6000

Jra: Tt wwee 150 91 fiem® %.6000 o1 faaen!
@S |

g3er AT T 17000 Ar fsw w5t 15 vhnw e
T ua 25 ufowra AT a st et et 2

e, g AR FT TI X D | »

- Now,

X —x X 15% = 17000

or, x—xX‘—ll"(%=l7000

C17x

or, 20

17000 x 20

or, X =—1‘7—
. x=20000

= 17000

Agam
zsmmnﬁmmw
25
_2OOOO+ZOOOOXW
= 20000 + 5000
= 25000
&a: 15 gfaea A T ST ok e 5.
25000 &3 1
gaer e 20% geufy w. 1920 7 Fsfirt | afg
ﬁ;ﬁm@ma#wmmmmw
?
Tel, g2 HUufem! edm! fa.g. =%. 1920
fedm ge = 20% :
A, B Hersy St faq, = %. x
3, Ge hersg A 6., — g 7o = geufod

or, X—Xl20%=7%.1920
20
or, X—XX 100—'6.1920

=%.1920

W |

or, X—

or, SL5—1=*<:.192'0
or, 4x=%.1920x35
1920 x 5
or, =, - 4
S x=7%.2400
aﬁ@zwn%wﬁm,ang:azmo

7.5
Y 7.5% = %. 2400 x Too =¥ 180

TH FITYMT g2 FHUUfsh f9.9. = %. 2400 — %.
180 =%.2220

g7.5%§zam@ 9 e %. 2220 foagod
o= | '

M wfafedomm 5. 70 @7 e Refrosr Awar geer

e (vivfedom) i @=m w&f 5% g2 R
ufer wfer el ©.6 & e ge | :
eI, AT 9 Yfafehell ! fashiet = %. x |9ET
fersharet femeht At = . 70 Wit farel
< =5%

JEfaR g =x A 5%
S__X
X*700~ 20
TR aTH =%.6

I AR e = '6( ;_‘0) 1;3

AT = Seh! ARfae T — ﬁﬁa?rt;@
19x
or, 6 =720 ~70
¢ _19x—1400
o 0 =%l
19x — 1400 -
or, 120+1400 =19x
or, 1520 =19x
1520
=719 - 80, ,

Fq: foshlet ©. 80 HEM THUS |
20% ge ufger A sifaly & aud 8% A
Wmmqﬁa@mmm
teifgr femereremT A aifafy @w ©. 256 frat
UG WA IR ANET Sefed W i RE ?
e, THI TSR g =% x
geufded =20%
mgawi@aﬁq\m =X — X %I 20%
20

= X=X =00

¥ AFER,
T Afygfg X =7%. 256

e =%.256

oL "500
or, 32x  =%.256x 500
256 x 500
or,, X = E—T
=%.4,000
31a: 3iferd Ted x = 4000 /S |

- TIET UEhaa! SEfed A ¥. 2000 © | febawr

&g ge d v e @ | AR Imew 13%
sfirafgar (VAT) afw < 1921mﬁraw"agea’r
@A U TSR |

I, JTEHId g = %. 2000

oz e 3 . e, we-v 79 €



ﬁ,ﬁ%ﬂﬁﬁ@@z=ﬁ.x

T, g2 Heuuien! fahared (S.P.)
=MP.-x =%.(2000-x)
13%. “ATeHfEdeh! TIghereh! qod

=S.P. +S.P. x =

100
L 000 X)L (00 )
={ = X)+( —X) 100

13x
=2000—-x+26— 7100

13x
=2026 —x— 700

TR Ul S Tgshd ©. 1921 71 fovrs |

13x
2026 —X——nn 100 = 1921
13x

2026 — 1921 =x +300

113
105 =50 X
105x 100 =113x
105 x 100
E

or,

or,
or,

or, X

Soox =93

ara: Tesharel %. 93 ge fawant foml |

TSET AEHaT SEied AT 20% ge 7€ 15%
WE wnegal Ry | afg @ e T 3450 A
Fhagar Rer W, @ TEawer SEfed A BT

T ?
Iei, T, T ged = x

20
20% G2 Hauafeh! faeha e= x — x X 750
_., X _ &
: Y -
4x 4x 15
5%VATHf€HHﬁﬁ1—l lxm
4x+60x
57 500
- 460x  23x
T 500 25
TGN,
. 23x
§.3450 =75
or, ¥.3450x25 =23x
3450 x 25
or, X =¥ 53
=%.3750

@ x=%.3750F3 1,
TSeT UEaaaT Jeied AR 15% g E 10%

T ST W AEHa@T T €. 4488 HEH HIRT |

it W i @R e wonEgar REr ?

&i, AT, 3Tfhd ged = M.P. =x

15% e HauuiSan! foshd Jed
=M.P.— M.P. 1 15%

< BvEEmTPE

S.'P.=x—x><TIO§6
. 85x: 1ix
=100 20
VAT Gfgast faq. = S.P. + S.P. &l 10%

1
_Ix 7x7=ﬁ10%

20

_17x 7x 1 7x 10

=" 20 * 100

17x 17x

20 200
_170x + 17x
B 200
187X
200

AR,
187x

200
187x

=%.4488

=%.4488 x 200
4488 x 200
X —3.————1 37
=%.24 x 200 =%.4800

ad: VAT &H =——-@|10A,

l7x 10
=720 * 7100
17 x %.4800
- 200
=17 x%.24
3d: Vat THH % 408 &S |
gaeT efeiear srgfea AwT 10% ge &E 15%
WE TIgeT W7 fafieear q €. 16720 W
woar R W it T@w ge Rggar Rer 2

or,

=%.408

Tel, |, TEEhid 9od = X
, 10
10% B Haufsdl fosha ged =x—x ¥ 100
X
X710
9x
=710
9x 185 --27x
VAT = =70>T00~ 200
9x 27
VAT dfeash arefas faha 5ed = 1’6 20’6
180x + 27x
or, %. 16720 = 500
207x
_ %.16720 x 200
9% B = 207
X =%.16154.5
A GETHA =T. 161545 x%@:“ﬁ- 1615.45



AN 9T HIEREEST § 80,000 AT @RE I T
W YY0 IS WHa & AT | IRy IWer @
HIERUEST T 9,80,000 AT fast I=iT wor Sur By
ufowre AT =T 7 - 90
Ram purchased in motorcycle of Rs. 90,000 and
spent Rs. 25,550 on its repairs. If he sold the
motorcycle for Rs. 1,40,000. What percentage of
profit he made ? RBB, &&-5, @era® 200y, #¢,/0Y)

Sol™: o
T, HIeTHEEHTTh! 9 G = 90000
HIeHEheTh! THd @ = 25550
YA E Wied HiEHer!

=90000+25550= 115550
34, THH! GEHA T 115550 €5 |
- TH HISEIEHE & 140000 HT 3 9
© AT = 140000-115550 = 24450

R R = 24490 x100%
115550

=21.16%
3Tq: Wgeheten! TR 9w 21.16 @S|
AT GEAET DA TASHT T. 940 &7 N @RE
T gSeT EEw 93 whw AT e s |
ST Se 8 wivww deew wEu | grsi
TEETe! ot Ao war wreRw | -0
Ram purchased two cycles in Rs. 1,750 each and
sold 4 cycle at the profit of 13%. Finally, he had
to bear 4% loss. Find out the selling price of
second cycle. :
(RBB, T&-4, FETq# (TR), 200/ ¢¢,/0Y)

Sol™:
T, T WsHAR! 9 G T 1750
TSI FIEHEAH! T ToF T 2x1750 = 3500

T3 F13hed 13% =T T fasht et

= 1750+1750% -

100

= 1750 + 227.5 ,

=1977.5
I IR SHAE S 7 g WEhe WiemT
ST 4 GfesTd e 4y |

4

1977.5 + x = 3500-3500x — =
100

or, x=3360-1977.5
or, x=1382.50
374, SIH WEhaTh! oo 799 T 1382.50 BB |
afg goer Aaw ¥ 7. 5,000 AT v Q0 whtne
awEr Rt oafer oW et o aR
g ? =y
If a mobile set was sold at 20% profit after
purchasing it at Rs. 6,000. What was it's selling
price ? (RBB, T&-y, WETq% (775) 2009, 03, ¢F)
Sol™: ' '
Tl HiaTsershl 9 99 % 6000
AT e = 20 Hferd
20 HfeRTa AT Sfeq Hregerh foasra qe

20
= 6000+6000x —
100

7200
&, Hrarsereh! .9, = 7200 &5 |
M oo gfaeT WaTsw JeEw ¥ 8,000 AT Reey | g
wage deee S€ fawt qemr duqr gwer dewm y
wiewe AT ¥ ot YeAr y wfvr A g
W IYAE AGT A AR B GRw W ?
T |
Arjun bought two mobile sets at Rs. 4,000. While
the two mobile sets were sold atthe same selling
price, he had to bear 5% profit on one set and 5%
loss on anotherset. What is his loss or profit
percentage? Find out.
(RBB, T&-5, WeTq®, 2008/ 03,/24)

el gEa HiaTsehl Tod % 4000 B |
HeEeH Yeew IE gouH R T gdam
© HreTseh! 9o x Ty HFAT |
X+y=4000 .............. (i)
X +x%5% = y-yx5%
105x 95y
100 100
ORY WPOX=95Y .....ovivevorennee (ii)
A (i) A y S AF (i) 91 W=
or, 105(4000-y)= 95y
or, 105x4000-105y =95y
or, 105x4000 = 95y+105y
_105x 4000

200
or, y=105x20
or, y=2100
Again,
HHIEH (i) S
X +y=4000
or, x +2100 = 4000
or, x=1900
TS5 frTet AT =1 HeTgersh fasht oo -
1900+1900x5%
1900+95
1995
37ehi HieTge 5 Wi AR =31 e fr
T
= 2100+2100%5%
= 2100-105

Sol™;

or,

([l

el
SHEAE YT AT (9 e - Farspey o)
= 4000-3990 = 10

BIESIE R N 4(1)((;0x100=0.25
A, SHEATS FHIAT 0.25 Firsra [ 92 |

A s 3 . g, ve-v ey D>




]

Sol"

|

Sol™

T aww y R A degen Y wfe
AEHAT AeqT T 9y 9@ AW WA In WIeeT
o A Tt | ~ -y
An article when sold at a profit of 5% yields Rs.
15 more than when sold at a loss of 5%. Find the
cost price.

(RBB, @&-Y, aRT TETT% (T7T%) , 2004/70/¢0)

i, TS @ Ted x T
5 fererd AT =T
X + x X5%

103x

‘100
3 gifcrera AR ST
x—XX*3%
95%
100

105x _ 95x _ .
100 100

10x = 1500

1500

Now,
or,
or, =150

1
7, T UEHE! @Td Je & 150 W |
gger Y ¥ 90000 AT Rt wet qy wiww
AW G W QY Wi AT e e femnt
I ? - oy
If a radio is sold at Rs. 17000 there will be a loss of

15%, at what price it should be sold in order to get
profit of 25%?

(RBB, T&-Y, aRT Terd®, 2008 /%% 0T)

et Yedren! fasmt g3 = 17000

A gfaed = 15%

I I =X

a7e), 9 e - e ged = Toshl e

X-XX s 17000
100

or,

85x
——= 17000
100
85x = 17000x100
_ 17000x100
85
or, x=20,000
A EdH = T T = 20,000
Aot gferd = 25 Wfawd
WT@*‘I:y‘HﬁI
ey, fosht 9ed = 9 el + T el

or,
or,

or, X

Il

20000+20000% 2o,

100
20000+5000
25000, 3Td: 25% T T 25000 H1 9= TS

< X agE-a:IPE

Sol™

37d: 10 gfaerg ATHl HHESA 3th

ffiey difegd wewT fnt et
FTET a7 ETET |T ? U wrede | - 90
Ram bought 50 buffaloes at Rs. 22,000 per buffalo
and fixed the selling price of each buffalo so as to
gain 15% profit. But among them 10 buffaloes
dead. He sold the remaining buffaloes at the same
intended price. What is his gain or loss
percent?Find out.

(RBB, T&-Y, AT TETTF (=) 2004/03/2%)

Sol™:

el 50 1 Sefihl HAHed = 50%22000

. =1100000

16 T Tl SR wse S ferska Ted
— 22000+22000x16%
— 22000+3520 = 25520

10 51 &t W 37 40 9 i foshl g
=25520%40
= 1020800
are, 50 e el @it T g A
= 1100000 = 1020800 '
=79200
T _ 79200 <100
1100000

IR AW =72 | ‘
daT %, 4,000 AT fwwwr W Y% =Ewr AEw
W AR AW By WArgth Semr 90%
AT BATSH HIGAT ao ol ? - 3+3=% :

(RBB, T&-3, FTD TeTqw, 2003/ /1)

72!, rien! kT el = 5000
1y g = 5%
Rt JeEE = 5000%5%

= 5000x =y

100
=250
3Tq: ST AT %. 250 SR
10 % =TT 1 T ek Yo hiEH TR

-=5000+5000%10%

0
= 5000+5000x L.
100

= 5000+500 : : 1
e 5500 | S=IURE |

% K *
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